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9 Points Response:

[N

a-1-
Q:E =O—': 0.17rad
r 06

a =w'r= (E)sz.G =1.9x10°m/s?
a-2- 3

2point

2point

b- | the product of of the two masses of the two bodies.

The Square of the distance between the two centers of the two
bodies.

lpoint

1point

vl 48 jal AuSlae Lol upa Wil St Jas dpdlall 5.8 (Y -1

C- | Because the force of gravity is doing a negative work, as it is opposite to
the movement of the body.

1 .
1— point
2I0

el S peadl) sy -2

Because of the inertia of the body.

1 .
1— point
2p
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9 Points Response
a-
1 1 2point
1-f=-=2=0.5Hz
T 2
2-A=4 cm .
1point
3-
T? = 4n? ! :
g 2point
T?’g (2)?X9.8
l=— = —=099=1m
41 1
b- v v 10°
=pum r=—-= =34.01m ;
r M g T 0axos 2point
g5l DY syl Ay s e 5 il ik 3 ¢ 535Y) S G -1
to measure the concentration of ozone in the stratosphere and 2 PO in
c- atmospheric temperature.
diclu 24 -2
24 hours

e
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8 Points Response:

a_

1-A=0.03 cm

2-p=m/2

3-w=2m

4-
x=0.03sin (Z:rrt + g) =0.03 sin (g) =0.03m

a_
1 2 1 2
Ep =S kA® =2 X200 X (0.1)* = 1]
-
1 2 1 2
Ep = kx* =2 X 200 X (0.007)* = 0.49]

Ek = E- Ep=1-0.49=0.51J

C-T= ZJTJ%:0.00S S

f=1.7 Hz

5 5l 558 23 5 (o she ¥ 23 ) Y i) aany Y

1point

1point

1point

1point

2 point

2 point
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